conclusion holds in the usual category of finite weaves, a topological
theorem is needed stating that if finitely woven knots are equivalent
in the larger category of infinite weaves then they are equivalent in
the category of finite weaves. The result that supports this
conclusion is found in [MO].

The Conway Proof

There is a very beautiful proof of the impossibility of knot
cancellation due to John Conway (See [Gl.). His proof does not go off
into infinite weave. Here is a sketch of Conway's proof:
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Figure 1

Put a tube T around K#K' (as shown in Figure 1 above) so that
the tube is a tubular neighborhood of K and so that the tube enguifs
K'. If K#K' = O, then there is a homeomorphism of the room to whose
walls K#K' is attached that leaves the walls of the room fixed, and
straightens K#K' to a straight line L extending from the left wall to
the right wall. The tube T will be deformed by this homeomorphism
to a new tube T' that does not intersect the line L. Let P be plane in
the room containing L. Then P intersects the left and right walls of
the room in the endpoints of L and in four points of the tube T' (two
on each wall). Let a and b denote the intersection of P with T' on the
feft wall and let ¢ and d denote the intersection of P with the right
wall. Then P intersects T' in arcs that emanate from a,b,c,d and
some closed curves in P. The arc from a cannot reach either b ord
because it is separated from these points by the line L in the plane P.
Therefore the arc from a must extend to c¢. This arc AC from a to € is
necessarily unknotted in the room, since it is a non-self-intersecting
_arc in the plane P. However the arc AC is the image under the
homeomotphism of an arc extending “from “onie end of the tube T to—




the other, and by construction, this means that the~arc AC must be
equivalent to the knot K (since the tube is knotted in the pattern of
K). Therefore we have shown that in the course of unknotting K#K'
we hav: necessarily unknotted K itselfl Therefore you cannot cancel
knots.//
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Figure 2

Graphs that Encapsulate Infinity

There is a very elegant way to represent sets in FIST that are
described by systems of equations: Anmy  directed graph represents
such a set. '

Each node in the graph represents a set. An edge directed from node
A to node B encodes the relation that B is a member of A.

/8 B €A
A

(This method of representation is used by Aczel [AC].)
A single finite set is a rooted tree where all the edges are directed
away from the root as in the examples preceding this discussion.

__ Nevertheless, any directed graph yields a set, or sets. For example,
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